

PEDRO PIRES SUZUKI

$$\begin{aligned}
 (1.) \quad & \phi(x) = \cos x \\
 & \phi^*(x) = \cos \bar{x} - \sin \bar{x} (x - \bar{x}) \\
 & \begin{cases} \bar{x} = 0 \Rightarrow \cos \bar{x} = 1 \\ \bar{x} = \frac{\pi}{4} \Rightarrow \cos x = \frac{\sqrt{2}}{2} - \frac{\sqrt{2}}{2} (x - \frac{\pi}{4}) \end{cases}
 \end{aligned}$$

$$(2.) \quad m\dot{v} = F - mrv + mx\dot{r} \Rightarrow F = m\dot{v} + mrv - mx\dot{r}$$

$$\text{sendo: } \vec{v} = \vec{r} - \vec{v} = 0$$

$$\phi(x, v, r, \dot{r}, \dot{v}) = \phi(\bar{x}, \bar{v}, \bar{r}, \bar{r}, \bar{v}) + \frac{\partial \phi}{\partial x} (x - \bar{x}) + \frac{\partial \phi}{\partial v} (v - \bar{v}) + \frac{\partial \phi}{\partial r} (r - \bar{r}) + \frac{\partial \phi}{\partial \dot{r}} (\dot{r} - \bar{r}) + \frac{\partial \phi}{\partial \dot{v}} (\dot{v} - \bar{v})$$

$$\phi(x, v, r, \dot{r}, \dot{v}) = m\bar{v} + m\bar{r}\bar{v} - m\bar{x}\bar{r} - m\bar{r}(x - \bar{x}) + m\bar{r}(v - \bar{v}) + m\bar{v}(r - \bar{r}) - m\bar{x}(\dot{r} - \bar{r}) + m(\dot{v} - \bar{v})$$

$$\underbrace{\phi(x, v, r, \dot{r}, \dot{v})}_F = m\bar{v}r - m\bar{x}\dot{r} + m\dot{v}$$

IGUAL A EXPRESSÃO INICIAL!